

$$\begin{aligned} \textcircled{1} \int_0^{\infty} 3e^{-6x} dx &= \lim_{T \rightarrow \infty} \int_0^T 3e^{-6x} dx = \lim_{T \rightarrow \infty} 3 \left[ -\frac{1}{6} e^{-6x} \right]_0^T = \lim_{T \rightarrow \infty} -\frac{1}{2} (e^{-6T} - 1) \\ &= \lim_{T \rightarrow \infty} -\frac{1}{2} \left( \frac{1}{e^{6T}} - 1 \right) = -\frac{1}{2} (0 - 1) = \boxed{\frac{1}{2}} \end{aligned}$$

$$\begin{aligned} \textcircled{2} \int_0^{\infty} x e^{-x} dx &= \lim_{T \rightarrow \infty} \int_0^T x e^{-x} dx \quad \text{Let } u=x, \quad dv=e^{-x} dx \\ &\quad du=dx, \quad v=-e^{-x} \\ &= \lim_{T \rightarrow \infty} \left[ -x e^{-x} - \int -e^{-x} dx \right]_0^T = \lim_{T \rightarrow \infty} \left[ -x e^{-x} - e^{-x} \right]_0^T = \lim_{T \rightarrow \infty} ((-T e^{-T} - e^{-T}) - (0 - 1)) \\ &= \lim_{T \rightarrow \infty} \left( -\frac{T}{e^T} - \frac{1}{e^T} + 1 \right) = \left( \lim_{T \rightarrow \infty} -\frac{T}{e^T} \right) - 0 + 1 = \left( \lim_{T \rightarrow \infty} -\frac{1}{e^T} \right) + 1 = 0 + 1 = \boxed{1} \\ &\quad \text{(using L'HOSPITAL'S RULE)} \end{aligned}$$

$$\begin{aligned} \textcircled{3} \int_0^{\infty} \frac{2}{1+x^2} dx &= \lim_{T \rightarrow \infty} \int_0^T \frac{2}{1+x^2} dx = \lim_{T \rightarrow \infty} \left[ 2 \tan^{-1} x \right]_0^T = \lim_{T \rightarrow \infty} 2 (\tan^{-1} T - \tan^{-1} 0) \\ &= 2 \left( \frac{\pi}{2} - 0 \right) = \boxed{\pi} \\ &\quad \text{(since } \tan^{-1} T \rightarrow \frac{\pi}{2} \text{ as } T \rightarrow \infty) \end{aligned}$$

$$\begin{aligned} \textcircled{4} \int_e^{\infty} \frac{dx}{x (\ln x)^2} &= \lim_{T \rightarrow \infty} \int_e^T \frac{1}{(\ln x)^2} \cdot \frac{1}{x} dx \quad \text{Let } u = \ln x \quad \text{when } x=e, u = \ln e = 1 \\ &\quad du = \frac{1}{x} dx \quad x=T, u = \ln T \\ &= \lim_{T \rightarrow \infty} \int_1^{\ln T} \frac{1}{u^2} du = \lim_{T \rightarrow \infty} \left[ -\frac{1}{u} \right]_1^{\ln T} = \lim_{T \rightarrow \infty} \left( -\frac{1}{\ln T} - (-1) \right) = 0 + 1 = \boxed{1} \end{aligned}$$

$$\begin{aligned} \textcircled{5} \int_1^{\infty} \frac{1}{x^{3/2}} dx &= \lim_{T \rightarrow \infty} \int_1^T x^{-3/2} dx = \lim_{T \rightarrow \infty} \left[ -2x^{-1/2} \right]_1^T = \lim_{T \rightarrow \infty} -2 (T^{-1/2} - 1) \\ &= \lim_{T \rightarrow \infty} -2 \left( \frac{1}{T^{1/2}} - 1 \right) = -2 (0 - 1) = \boxed{2} \end{aligned}$$

$$\begin{aligned} \textcircled{6} \int_{-\infty}^{-1} \frac{1}{1+x^2} dx &= \lim_{T \rightarrow -\infty} \int_T^{-1} \frac{1}{1+x^2} dx = \lim_{T \rightarrow -\infty} \left[ \tan^{-1} x \right]_T^{-1} = \lim_{T \rightarrow -\infty} (\tan^{-1}(-1) - \tan^{-1} T) \\ &= -\frac{\pi}{4} - \left( -\frac{\pi}{2} \right) = \boxed{\frac{\pi}{4}} \quad \text{(since } \tan^{-1} T \rightarrow -\frac{\pi}{2} \text{ as } T \rightarrow -\infty) \end{aligned}$$

$$\begin{aligned} \textcircled{9} \int_0^{\infty} \frac{x}{(1+x^2)^2} dx &= \lim_{T \rightarrow \infty} \int_0^T \frac{x}{(1+x^2)^2} dx \quad \text{Let } u=1+x^2 \\ &\quad du=2x dx \\ &= \lim_{T \rightarrow \infty} \frac{1}{2} \int_0^T \frac{1}{(1+x^2)^2} \cdot 2x dx = \lim_{T \rightarrow \infty} \frac{1}{2} \int_{x=0}^{x=T} \frac{1}{u^2} du = \lim_{T \rightarrow \infty} \frac{1}{2} \left[ -\frac{1}{u} \right]_{x=0}^{x=T} = \lim_{T \rightarrow \infty} \frac{1}{2} \left[ -\frac{1}{1+x^2} \right]_0^T \\ &= \lim_{T \rightarrow \infty} \frac{1}{2} \left( -\frac{1}{1+T^2} - (-1) \right) = \frac{1}{2} (0 + 1) = \boxed{\frac{1}{2}} \end{aligned}$$

$$\begin{aligned} \textcircled{10} \int_0^{\infty} x^3 e^{-x^4} dx &= \lim_{T \rightarrow \infty} \int_0^T x^3 e^{-x^4} dx \quad \text{Let } u=-x^4 \\ &\quad du=-4x^3 dx \\ &= \lim_{T \rightarrow \infty} \left( -\frac{1}{4} \right) \int_0^T e^{-x^4} (-4) x^3 dx = \lim_{T \rightarrow \infty} -\frac{1}{4} \left[ e^{-x^4} \right]_0^T = \lim_{T \rightarrow \infty} -\frac{1}{4} (e^{-T^4} - 1) \\ &= \lim_{T \rightarrow \infty} -\frac{1}{4} \left( \frac{1}{e^{T^4}} - 1 \right) = -\frac{1}{4} (0 - 1) = \boxed{\frac{1}{4}} \end{aligned}$$

(13)  $\int_0^{\pi/2} \frac{\cos x}{\sqrt{\sin x}} dx = \lim_{T \rightarrow 0^+} \int_T^{\pi/2} \frac{\cos x}{\sqrt{\sin x}} dx$       let  $u = \sin x$       if  $x=T$ ,  $u = \sin T$   
 $du = \cos x dx$        $x = \pi/2$ ,  $u = \sin \frac{\pi}{2} = 1$

$= \lim_{T \rightarrow 0^+} \int_{\sin T}^1 \frac{1}{\sqrt{u}} du = \lim_{T \rightarrow 0^+} \int_{\sin T}^1 u^{-1/2} du = \lim_{T \rightarrow 0^+} [2u^{1/2}]_{\sin T}^1 = \lim_{T \rightarrow 0^+} 2(1 - (\sin T)^{1/2}) = 2(1-0) = \boxed{2}$

(17)  $\int_1^{\infty} \frac{1}{x^3} dx = \lim_{T \rightarrow \infty} \int_1^T x^{-3} dx = \lim_{T \rightarrow \infty} \left[ -\frac{1}{2} x^{-2} \right]_1^T = \lim_{T \rightarrow \infty} -\frac{1}{2} \left( \frac{1}{T^2} - 1 \right) = -\frac{1}{2} (0 - 1) = \boxed{\frac{1}{2}}$

(18)  $\int_1^{\infty} \frac{1}{x^{1/3}} dx = \lim_{T \rightarrow \infty} \int_1^T x^{-1/3} dx = \lim_{T \rightarrow \infty} \left[ \frac{3}{2} x^{2/3} \right]_1^T = \lim_{T \rightarrow \infty} \frac{3}{2} (T^{2/3} - 1) = \infty$ ,  
 so the integral **DIVERGES**.

(22)  $\int_0^2 \frac{1}{(x-1)^4} dx = \int_0^1 \frac{1}{(x-1)^4} dx + \int_1^2 \frac{1}{(x-1)^4} dx$

i)  $\int_1^2 \frac{1}{(x-1)^4} dx = \lim_{T \rightarrow 1^+} \int_T^2 (x-1)^{-4} dx$       let  $u = x-1$ ,  $du = dx$

$= \lim_{T \rightarrow 1^+} \int_{x=T}^{x=2} u^{-4} du = \lim_{T \rightarrow 1^+} \left[ -\frac{1}{3} u^{-3} \right]_{x=T}^{x=2} = \lim_{T \rightarrow 1^+} \left[ -\frac{1}{3} (x-1)^{-3} \right]_T^2 = \lim_{T \rightarrow 1^+} -\frac{1}{3} (1^{-3} - (T-1)^{-3})$

$= \lim_{T \rightarrow 1^+} -\frac{1}{3} \left( 1 - \frac{1}{(T-1)^3} \right) = \infty$       (since as  $T \rightarrow 1^+$ ,  $(T-1)^3 \rightarrow 0^+$  so  $\frac{1}{(T-1)^3} \rightarrow \infty$ ),

so  $\int_0^2 \frac{1}{(x-1)^4} dx$  **DIVERGES**.

(25)  $\int_e^{\infty} \frac{dx}{x \ln x} = \lim_{T \rightarrow \infty} \int_e^T \frac{1}{x \ln x} dx$       let  $u = \ln x$ ,  $du = \frac{1}{x} dx$       if  $x=e$ ,  $u = \ln e = 1$   
 $x=T$ ,  $u = \ln T$

$= \lim_{T \rightarrow \infty} \int_1^{\ln T} \frac{1}{u} du = \lim_{T \rightarrow \infty} [\ln u]_1^{\ln T} = \lim_{T \rightarrow \infty} (\ln(\ln T) - \ln 1) = \lim_{T \rightarrow \infty} \ln(\ln T) = \infty$ ,  
 so the integral **DIVERGES**.

(26)  $\int_1^e \frac{dx}{x \ln x} = \lim_{T \rightarrow 1^+} \int_T^e \frac{1}{x \ln x} dx$       let  $u = \ln x$ ,  $du = \frac{1}{x} dx$       if  $x=T$ ,  $u = \ln T$   
 $x=e$ ,  $u = \ln e = 1$

$= \lim_{T \rightarrow 1^+} \int_{\ln T}^1 \frac{1}{u} du = \lim_{T \rightarrow 1^+} [\ln u]_{\ln T}^1 = \lim_{T \rightarrow 1^+} (\ln 1 - \ln(\ln T)) = \lim_{T \rightarrow 1^+} -\ln(\ln T) = \infty$

(since as  $T \rightarrow 1^+$ ,  $\ln T \rightarrow 0^+$  so  $\ln(\ln T) \rightarrow -\infty$ ), so the integral **DIVERGES**.

[OR use  $\lim_{T \rightarrow 1^+} (\ln 1 - \ln(\ln T)) = \lim_{T \rightarrow 1^+} \ln \left( \frac{1}{\ln T} \right) = \infty$  since  $\ln T \rightarrow 0^+$  as  $T \rightarrow 1^+$ ,  
 so  $\frac{1}{\ln T} \rightarrow \infty$ ]

(31)  $\int_0^{\infty} C e^{-3x} dx = 1$

since  $\int_0^{\infty} e^{-3x} dx = \lim_{T \rightarrow \infty} \int_0^T e^{-3x} dx = \lim_{T \rightarrow \infty} \left[ -\frac{1}{3} e^{-3x} \right]_0^T = \lim_{T \rightarrow \infty} -\frac{1}{3} (e^{-3T} - 1)$

$= \lim_{T \rightarrow \infty} -\frac{1}{3} (e^{-3T} - 1) = -\frac{1}{3} (0 - 1) = \frac{1}{3}$ ,

$C \cdot \frac{1}{3} = 1$  so  $\boxed{C = 3}$

32)  $\int_{-\infty}^{\infty} \frac{c}{1+x^2} dx = 1$

$\int_{-\infty}^{\infty} \frac{1}{1+x^2} dx = \int_{-\infty}^0 \frac{1}{1+x^2} dx + \int_0^{\infty} \frac{1}{1+x^2} dx$  where

1)  $\int_0^{\infty} \frac{1}{1+x^2} dx = \lim_{T \rightarrow \infty} \int_0^T \frac{1}{1+x^2} dx = \lim_{T \rightarrow \infty} [\tan^{-1} x]_0^T = \lim_{T \rightarrow \infty} (\tan^{-1} T - \tan^{-1} 0) = \frac{\pi}{2} - 0 = \frac{\pi}{2}$  AND

2)  $\int_{-\infty}^0 \frac{1}{1+x^2} dx = \lim_{T \rightarrow -\infty} \int_T^0 \frac{1}{1+x^2} dx = \lim_{T \rightarrow -\infty} [\tan^{-1} x]_T^0 = \lim_{T \rightarrow -\infty} (\tan^{-1} 0 - \tan^{-1} T) = 0 - (-\frac{\pi}{2}) = \frac{\pi}{2}$ ,

so  $\int_{-\infty}^{\infty} \frac{1}{1+x^2} dx = \pi$  AND  $(\pi = 1)$  GIVES  $c = \boxed{\frac{1}{\pi}}$

35) a) since  $x^2 \geq x$  FOR  $x \geq 1$ ,  $-x^2 \leq -x$  AND THUS  $0 < e^{-x^2} \leq e^{-x}$  FOR  $x \geq 1$ .

b) since  $\int_1^{\infty} e^{-x} dx$  CONVERGES BECAUSE  $\int_1^{\infty} e^{-x} dx = \lim_{T \rightarrow \infty} \int_1^T e^{-x} dx = \lim_{T \rightarrow \infty} [-e^{-x}]_1^T = \lim_{T \rightarrow \infty} -(e^{-T} - e^{-1}) = - (0 - e^{-1}) = e^{-1}$ ,  
 $\int_1^{\infty} e^{-x^2} dx$  CONVERGES BY THE COMPARISON TEST SINCE  $0 < e^{-x^2} \leq e^{-x}$  FOR  $x \geq 1$ .

39) a) IF  $x \geq 1$ , THEN  $x^2 \geq 1 \Rightarrow 3x^2 \geq 1 \Rightarrow 4x^2 \geq 1+x^2 \Rightarrow 2x \geq \sqrt{1+x^2} \Rightarrow 0 < \frac{1}{2x} \leq \frac{1}{\sqrt{1+x^2}}$

b) since  $\frac{1}{\sqrt{1+x^2}} \geq \frac{1}{2x} > 0$  FOR  $x \geq 1$  AND

$\int_1^{\infty} \frac{1}{2x} dx = \lim_{T \rightarrow \infty} \int_1^T \frac{1}{2x} dx = \lim_{T \rightarrow \infty} \frac{1}{2} [\ln x]_1^T = \lim_{T \rightarrow \infty} \frac{1}{2} (\ln T - \ln 1) = \infty$ ,

$\int_1^{\infty} \frac{1}{\sqrt{1+x^2}} dx$  DIVERGES BY THE COMPARISON TEST.

40)  $\int_1^{\infty} \frac{1}{\sqrt{1+x^6}} dx$

since  $\frac{1}{\sqrt{1+x^6}} \leq \frac{1}{\sqrt{x^6}} = \frac{1}{x^3}$  FOR  $x \geq 1$  AND

$\int_1^{\infty} \frac{1}{x^3} dx$  CONVERGES (AS IN #17),

$\int_1^{\infty} \frac{1}{\sqrt{1+x^6}} dx$  **CONVERGES** BY THE COMPARISON TEST.